2A: MEW

Y HYE WS BSE AT L (BAA2E/HK)

B9 XSIIBAIL &= CERED
BN - B GA(3) - NISAY - BES ol Aoy L 918 - HnsZ

s 79,479,457 78,154,475 1,324,982

Xl 8,955,000 8,955,000 0

Dl 9,873,260 9,486,432 386,828

E 1,000,000 1,000,000 0

== 59,651,197 58,713,043 938, 154

A28 M= g%éﬂé’!%E AlE (B3YAZ/AK) 79,357,626 78,116,848 1,240,778

Xl 8,955,000 8,955,000 0

pli 9,873,260 9,486,432 386,828

£ 1,000,000 1,000,000 0

o 59,529, 366 58,675,416 853,950

HEFIIBAE &5 26,389,000 25,989,000 400,000

Xl 8,955,000 8,955,000 0

J| 4,591,000 4,191,000 400,000

g 1,000,000 1,000,000 0

& 11,843,000 11,843,000 0

fAFE HA3Y I FLE HE 200,000 0 200,000

Jl 200,000 0 200,000

403 NG ASASA20A 200,000 0 200,000

ol 200,000 0 200,000

01 XIIXISHELEX 200,000 0 200,000

O|)=F U3 IA0IMHSHH HE 200,000 0 200,000

| 200,000 0 200,000

2AS MBAH IDIXSME 228Y 200,000 0 200,000

Il 200,000 0 200,000

403 XXM S XHE0(H® 200,000 0 200,000

J| 200,000 0 200,000

01 ItXSHE2EX 200,000 0 200,000

OUE MEAY IDIHSHH 22 200,000 0 200,000

2| 200,000 0 200,000

HE2Ug N 2 X 4 37,863,068 37,035,890 827,178

D] 1,233,928 1,260,700 A26,772

= 36,629, 140 35,775,190 853,950

T Ao MU 29 - XE 21,058,000 20,421,000 637,000

307 G120l & 21,058,000 20,421,000 637,000

02 QIZHAAAIHE X 16,830,000 16,630,000 200,000

ok H=3 X& 13,540,000 13,340,000 200,000

03 CIZIC M A RHHIEX 4,228,000 3,791,000 437,000

o H=3 X 3,237,000 2,800,000 437,000

ZOHQIMEBHSXEA BIXI(Z)(=1) 268,080 276, 180 28,100

Jl 134,040 138,090 24,050

== 134,040 138,090 24,050

307 QI2+0| & 268,080 276, 180 28,100

J| 134,040 138,090 24,050

= 134,040 138,090 24,050
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A MEW
Y 2 WS

H=E AT LH(SHYBB/HS)

=5 B X{IqEHsI II*' E =Y qé

'—rkl P mﬂ(ﬂ:m) kII il s

02 Dl?_*%'éM}gEx

Wl&%

276,180

A8, 100

268,080

OZNMBHMSXSK X (SZONLIXITS) 268,080 276, 180 8,100

p] 134,040 138,000 14,050

= 134,040 138,000 £4,050

ZOHQMBHSXE X (A2)(22) 294,888 317,610 £22,722
p 294,888 317,610 A22,722

308 XHXIEHH SO 294,888 317,610 £22,722
Il 294,888 317,610 £22,722

01 MIXEHZARED 294,888 317,610 ~22,722
OZMHOAMBHSX S BXI(AR) 294,888 317,610 £22,722

p 294,888 317,610 A22,722

oY MSHA K& 407,000 436,000 £29,000
307 1240 & 407,000 436,000 29,000
04 BIZIB AN B E 407,000 436,000 29,000
O 20Xt SDERHS 0 14,000 214,000
O=Z NS M= HIOIWL RS 0 5,000 5,000
RS ETIESE-ENIVE! 0 10,000 £10,000
SRSSAYSIZ SHONS I 0 50,000 AB0,000
308 XHXIEHH SO 0 50,000 A50,000
01 IXISHZARES 0 50,000 B0, 000
O=H AU ZH SoHHS H 0 50,000 50,000
OLOIABI3ITHE & X & 300,000 0 300,000
307 81240 & 300,000 0 300,000
02 AP AALEE 300,000 0 300,000
©OL0I ABHIITHE] HEXI& 300,000 0 300,000
MBHS TRIE0 B 3,877,628 3,864,028 13,600
p] 3,348,332 3,334,732 13,600

= 529,296 529,296 0

YEHSNSK SSIE QMEIE(2D) 13,600 0 13,600
ol 13,600 0 13,600

308 XHXIEHHISOI® 13,600 0 13,600
g 13,600 0 13,600

01 IXIEHHZARES 13,600 0 13,600
OMEXSNEK &S X8 MES(21) 13,600 0 13,600

p 13,600 0 13,600

WPES(HSD)(SSHUBB/HK) 87,929 3,725 84,204
2ENE 87,929 3,725 84,204
HESRE 2N2ES e 87,929 3,725 84,204
802 E+2t 20| El 87,929 3,725 84,204
NEREEETTEE 87,929 3,725 84,204
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2A: s
M WRES(HSH)(S3U2Z/HK)
cGe: BAXE =x-H

. ®A-am q%(mn Medg-msm | oee

— o TE SNSERSOE 1278 0 1.278
o©'174 BRE=LH L XS 51 0 51
o0'17d Cem=y 82,875 0 82,875
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